
11.06.2014 1/10

»6869«

6869

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 



2/10 6869 11.06.2014

0          10         20         30         40         50         60         70         80         90        100       110       120       130       140       150       160       170       180       190

Name • Nom • Nome • Naam • Nazwa • Jméno • 
Nàzov • Név • Denumire • Isim • Название 

Nr. • No. • N° • Номер • Č • Sz 

Typ • Type • Tip • Tipus • Tipo • Тип 

Service • Dienstverlening • Serwis • Servis • Сервисная служба • Assistenza • Szerviz 

Ø5 / Ø5

12 xN
Ø4,0 x 60

1 xEo

20 x 42 x 70

1 xKc

Ø5 x 20

4 xAj

fk.9

4 xCe

Ø3,5 x 15

10 xEa

1 xFa

37 x 164

2 xOf

Ø1,2 x 20

50 xI

45 x 20 x 16

1 xIb
Ø15 x 11

12 xGa
Ø6,3 x 12

8 xBa

3 mm

1 xFb

Ø5 x 50

6 xHc
Ø8 x 35

12 xA

2 mm

4 xC

L - 34

12 xG

20 x 20 x 16

4 xK

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc



3/10686911.06.2014

183

28

545

28

53

28

544

53

32

542543

540

540



4/10 6869 11.06.2014

2 x2

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

1

53
A

A

A

A

A

A

G
G

G
G

Ba
G

Ba
G

KK

K
K

BaBa
G

G
G

C
C

G
G

G

C

A

A

C

542

543

Ø8 x 35

8 xA

Ø8 x 35

4 xA

Ø6,3 x 12

4 xBa

2 mm

4 xC

L - 34

12 xG

20 x 20 x 16

4 xK



5/10686911.06.2014

4

3

53

53

542

543

183

32

Ga

Ga

Ga

Ga

Ga

Ga
Ga

Ga

Ga

Hc
Hc

Hc

Hc

Ba
Ba

Ba

Ø15 x 11

12 xGa

Ø6,3 x 12

4 xBa

3 mm

1 xFb

Ø5 x 50

6 xHc



6/10 6869 11.06.2014

5

I

I

I

I

I

I

I

I

I I

I

I

I

I

I

I

I

I

I I

I I

Ø1,2 x 20

48 xI

45 x 20 x 16

1 xIb

b

Ib
I

a

Ib
I

c

I



7/10686911.06.2014

7

6

EaEa

Ce

Ce

EaEa

540

fk.9

2 xCe

Ø3,5 x 15

4 xEa

541
Aj

Of

Of

AjAj

EaEa

Ce

EaEa

Ce

1 xFa

Leim
Lijm
Tutkal

Glue
Klej
Клей

D
NL
TR

GB
PL
RU

Colle
Lepidlo
Enyv

Colla
Glej
Adeziv

FR
CZ
HU

IT
SK
RO

Ø5 x 20

4 xAj

fk.9

2 xCe

Ø3,5 x 15

4 xEa 1 xFa

37 x 164

2 xOf

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc

Ec / Dd

Pc / Od

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc

Ec / Dd

Pc / Od



8/10 6869 11.06.2014

D

GB

NL

PL

TR

RU

FR

IT

CZ

SK

HU

RO Sistemul de fixare la perete serveşte ca protecţie la răsturnarede montat obligatoriu!  
Pentru unele tipuri de pereţi este posibil să fie necesar un diblu special! 

A terméket a falhoz kel rögzíteni, különben az felborulhat!  
Egyes faltípusoknál speciális tiplit kell használni! 

Upevnenie na stenu slúži ako ochrana proti prevráteniu – bezpodmienečne použite!  
Pre niektoré druhy stien môže byť potrebná špeciálna hmoždinka! 

Montáž na stěnu slouží jako ochrana proti převrhnutí – bezpodmínečně umístěte!  
U některých typů stěn může být zapotřebí speciální hmoždinka! 

Il fissaggio alla parete serve da protezione anti-ribaltamento – attaccarla assolutamente!  
Per alcune strutture di parete può essere necessario un tassello speciale! 

La fixation murale sert de protection contre le basculement – àinstaller impérativement !  
Pour certains types de murs il faut des chevilles spéciales ! 

Обязательно установите крепление на стене во избежание опрокидывания! Для некоторых типов стен может 
потребоваться специальный дюбель! 

Duvardaki sabitleme, devrilmeye karşı bir emniyet tedbiridir ve mutlaka monte edilmelidir! Bazı duvar tiplerinde 
bunun için özel bir dübel gerekli olabilir! 

Mocowanie do ściany jest jednocześnie zabezpieczeniem przed przewróceniem – koniecznie zamontować! 
Do niektórych rodzajów ścian konieczne mogą być specjalne wkręty! 

Bevestiging aan de muur dient als kantelbescherming – zeker en vast bevestigen! 
Bij enkele muurtypes is een speciale plug misschien vereist! 

The wall fastening serves to prevent tipping – be absolutely sure to mount it! 
For certain wall types, a special dowel may be necessary! 

Wandbefestigung dient als Kippschutz – unbedingt anbringen! 
Bei einigen Wandtypen kann ein Spezialdübel erforderlich sein! 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

Kc

EaEa

Eo

Ø3,5 x 15

2 xEa

Ø4,0 x 60

1 xEo

20 x 42 x 70

1 xKc

8



9/10686911.06.2014

N
N

N
N

N
N

28

28

28

a

b

c

Ø5 / Ø5

12 xN

9

540

541



10/10 6869 11.06.2014

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO

Türen einstellen (Scharniere justieren) 
Adjusting the doors (adjusting the hinges) 
Deuren instellen (scharnieren afstellen) 

Nastawić drzwi (wyrównać zawiasy) 

Kapıların ayarlanması (menteşelerin seviye ayarı) 

Регулировка дверей (регулировка шарнира) 
Régler les portes (ajuster les charnières) 
Sistemare le porte (regolare le cerniere) 
Vyrovnejte dvířka (seřiďte závěsy) 
Nastavenie dverí (nastavenie závesov) 
Állítsa be az ajtókat (állítsa be a zsanérokat) 
Reglare uşi (ajustare balamale) 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

b ca



11.06.2014 1/7

»6833«

6833

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 



2/7 6833 11.06.2014

0          10         20         30         40         50         60         70         80         90        100       110       120       130       140       150       160       170       180       190

Name • Nom • Nome • Naam • Nazwa • Jméno • 
Nàzov • Név • Denumire • Isim • Название 

Nr. • No. • N° • Номер • Č • Sz 

Typ • Type • Tip • Tipus • Tipo • Тип 

Service • Dienstverlening • Serwis • Servis • Сервисная служба • Assistenza • Szerviz 

Ø8 x 35

10 xA

Ø5,8 x 11

4 xBb

M4 x 20

3 xDd

M4 x 10

2 xDf

Ø3,5 x 15

2 xEa

Ø3,5 x 35

5 xEc

Ø4,0 x 60

2 xEo

4 mm

1 xFe

L - 34

11 xG

Ø15 x 11

11 xGa

20 x 20 x 16

2 xKa

Ø30 x 27 - M4

2 xOd

17 x 214

2 xQm
M 4

3 xOe

/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc



3/7683311.06.2014

487

486

480

485

481

484

483
492

491

482



4/7 6833 11.06.2014

1

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

Ø8 x 35

8 xA

Ø5,8 x 11

4 xBb

M4 x 20

3 xDd

L - 34

9 xG

M 4

3 xOe

17 x 214

2 xQm

487

486

480

481

485

G

Bb

G

G

G

G

G

Bb G

G

BbQm

G

A

A

A

A

A

A
Dd

Dd
Dd

A

A
Oe

Oe
Oe



5/7683311.06.2014

Ø15 x 11

1 xGa

4

2

3

Ø3,5 x 35

1 xEc

Ga

Ga Ga

Ga

Ga Ga

Ga
Ga

Ec

4 mm

1 xFe

Ø15 x 11

8 xGa

485

480

481

487

486



6/7 6833 11.06.2014

5

Ka
Ea

Eo

Ea

Ka

Eo

Ø3,5 x 15

2 xEa

Ø4,0 x 60

2 xEo

20 x 20 x 16

2 xKa

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO Pentru unele tipuri de pereţi este posibil să fie necesar un diblu special! 

Egyes faltípusoknál speciális tiplit kell használni! 

Pre niektoré druhy stien môže byť potrebná špeciálna hmoždinka! 

U některých typů stěn může být zapotřebí speciální hmoždinka! 
Per alcune strutture di parete può essere necessario un tassello speciale! 
Pour certains types de murs il faut des chevilles spéciales ! 
Для некоторых типов стен может потребоваться специальный дюбель! 

Bazı duvar tiplerinde bunun için özel bir dübel gerekli olabilir! 

Do niektórych rodzajów ścian konieczne mogą być specjalne wkręty! 
Bij enkele muurtypes is een speciale plug misschien vereist! 

For certain wall types, a special dowel may be necessary! 

Bei einigen Wandtypen kann ein Spezialdübel erforderlich sein! 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 



7/7683311.06.2014

Ø15 x 11

2 xGa

7

6

Ø8 x 35

2 xA

M4 x 20

2 xDd

Ø3,5 x 35

4 xEc

L - 34

2 xG

Ø30 x 27 - M4

2 xOd

Ø34 x 29

2 xPc

Ec

Ec

Ec

A

A
G

Ec / Dd
Ec / Dd G

Pc / Od
Pc / Od

Ga

Ga

482

482

483

484

492

491

Df

M4 x 10

2 xDf

Ø3,5 x 35

2 xEc /



11.06.2014 1/7

»6834«

6834

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 



2/7 6834 11.06.2014

0          10         20         30         40         50         60         70         80         90        100       110       120       130       140       150       160       170       180       190

Name • Nom • Nome • Naam • Nazwa • Jméno • 
Nàzov • Név • Denumire • Isim • Название 

Nr. • No. • N° • Номер • Č • Sz 

Typ • Type • Tip • Tipus • Tipo • Тип 

Service • Dienstverlening • Serwis • Servis • Сервисная служба • Assistenza • Szerviz 

Ø8 x 35

10 xA

Ø5,8 x 11

4 xBb

M4 x 20

6 xDd

M4 x 10

2 xDf

Ø3,5 x 15

2 xEa

Ø3,5 x 35

6 xEc

Ø4,0 x 60

2 xEo

4 mm

1 xFe

L - 34

12 xG

Ø15 x 11

12 xGa

20 x 20 x 16

2 xKa

17 x 214

2 xQm
M 4

6 xOe

Ø30 x 27 - M4

3 xOd/ M4 x 20

3 xDd

Ø34 x 29

3 xPc

Ø3,5 x 35

3 xEc



3/7683411.06.2014

48
7

48
9

48
8

48
6

49
4 49

3

49
0

49
2

49
1

49
5



4/7 6834 11.06.2014

1

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

Ø8 x 35

8 xA

Ø5,8 x 11

4 xBb

M4 x 20

6 xDd

L - 34

10 xG

M 4

6 xOe

17 x 214

2 xQm

487

486
G

Bb

G

G

G

G

G

Bb G

G

BbQm

488

489

495

A

A

A

A

G

G

Dd
Dd

Dd
Dd

Dd
Dd A

A

A

A

Oe
Oe

Oe
Oe

Oe
Oe



5/7683411.06.2014

Ø15 x 11

2 xGa

4

2

3

Ø3,5 x 35

2 xEc

4 mm

1 xFe

Ø15 x 11

8 xGa

Ga

Ga
495

488

489

487

486

Ga

Ga

Ga
Ga

Ga Ga
Ga

Ec
Ec



6/7 6834 11.06.2014

5

Ø3,5 x 15

2 xEa

Ø4,0 x 60

2 xEo

20 x 20 x 16

2 xKa

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO Pentru unele tipuri de pereţi este posibil să fie necesar un diblu special! 

Egyes faltípusoknál speciális tiplit kell használni! 

Pre niektoré druhy stien môže byť potrebná špeciálna hmoždinka! 

U některých typů stěn může být zapotřebí speciální hmoždinka! 
Per alcune strutture di parete può essere necessario un tassello speciale! 
Pour certains types de murs il faut des chevilles spéciales ! 
Для некоторых типов стен может потребоваться специальный дюбель! 

Bazı duvar tiplerinde bunun için özel bir dübel gerekli olabilir! 

Do niektórych rodzajów ścian konieczne mogą być specjalne wkręty! 
Bij enkele muurtypes is een speciale plug misschien vereist! 

For certain wall types, a special dowel may be necessary! 

Bei einigen Wandtypen kann ein Spezialdübel erforderlich sein! 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

Ka Ea

Eo

Ka

Eo
Ea



7/7683411.06.2014

Ø15 x 11

2 xGa

7

6

Ø8 x 35

2 xA

Ø3,5 x 35

4 xEc

L - 34

2 xG

Df

M4 x 10

2 xDf

Ec

Ec
A

G
Ec / Dd

Ec / Dd
Ec / Dd

G

Pc / Od

Pc / Od

Pc / Od

Ga

Ga

Ec

A

492
493

494

490

491

490

Ø30 x 27 - M4

3 xOd/ M4 x 20

3 xDd

Ø34 x 29

3 xPc

Ø3,5 x 35

3 xEc



11.06.2014 1/9

»6840«

6840

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 



2/9 6840 11.06.2014

0          10         20         30         40         50         60         70         80         90        100       110       120       130       140       150       160       170       180       190

Name • Nom • Nome • Naam • Nazwa • Jméno • 
Nàzov • Név • Denumire • Isim • Название 

Nr. • No. • N° • Номер • Č • Sz 

Typ • Type • Tip • Tipus • Tipo • Тип 

Service • Dienstverlening • Serwis • Servis • Сервисная служба • Assistenza • Szerviz 

Ø8 x 35

8 xA

2 mm

2 xC

fk.9

2 xCe

Ø3,5 x 15

4 xEa

Ø15 x 11

4 xGa

L - 34

4 xG

Ø1,2 x 20

25 xI

45 x 20 x 16

1 xIb

2 set

1 xLk

Ø5 / Ø5

4 xN

Ø5 x 20

4 xAj 1 xFa

Ø5 x 50

4 xHc

37 x 164

2 xOf
3 mm

1 xFb

Ø30 x 27 - M4

1 xOd/ M4 x 20

1 xDd

Ø34 x 29

1 xPc

Ø3,5 x 35

1 xEc



3/9684011.06.2014

437

503

510

509

502

128

496



4/9 6840 11.06.2014

2

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

1

Ø8 x 35

8 xA

L - 34

4 xG

Ø15 x 11

4 xGa

2 mm

2 xC

509

510

128

G

G

A

A

A

A

A

A
C

C

G

G

A

A

Ga

Ga Ga

Ga
510

509

128



5/9684011.06.2014

4

3

Ø1,2 x 20

18 xI

45 x 20 x 16

1 xIb

a

Ib
I

b

Ib
I

c

I

Ø5 x 50

4 xHc

437

Hc

Hc

Hc

Hc

I
I I I I

I

I

I

I

IIII
I

I

I

I

I

503

3 mm

1 xFb



6/9 6840 11.06.2014

Lk

2 set

1 xLk

6

5

Lk

fk.9

2 xCe

Ø3,5 x 15

4 xEa

496

Ea Ea
Ce

Ea Ea
Ce

Ec / Dd

Pc / Od

Ø30 x 27 - M4

1 xOd/ M4 x 20

1 xDd

Ø34 x 29

1 xPc

Ø3,5 x 35

1 xEc



7/9684011.06.2014

8

7

a b c

Ø5 / Ø5

4 xN

1 xFa

Ø5 x 20

4 xAj

37 x 164

2 xOf 1 xFa

Leim
Lijm
Tutkal

Glue
Klej
Клей

D
NL
TR

GB
PL
RU

Colle
Lepidlo
Enyv

Colla
Glej
Adeziv

FR
CZ
HU

IT
SK
RO

Aj
Aj

Of

Of

Aj Aj
496

496

502

N

N



8/9 6840 11.06.2014

9

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO

Türen einstellen (Scharniere justieren) 
Adjusting the doors (adjusting the hinges) 
Deuren instellen (scharnieren afstellen) 

Nastawić drzwi (wyrównać zawiasy) 

Kapıların ayarlanması (menteşelerin seviye ayarı) 

Регулировка дверей (регулировка шарнира) 
Régler les portes (ajuster les charnières) 
Sistemare le porte (regolare le cerniere) 
Vyrovnejte dvířka (seřiďte závěsy) 
Nastavenie dverí (nastavenie závesov) 
Állítsa be az ajtókat (állítsa be a zsanérokat) 
Reglare uşi (ajustare balamale) 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

a

b

c



9/9684011.06.2014

10

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO Pentru unele tipuri de pereţi este posibil să fie necesar un diblu special! 

Egyes faltípusoknál speciális tiplit kell használni! 

Pre niektoré druhy stien môže byť potrebná špeciálna hmoždinka! 

U některých typů stěn může být zapotřebí speciální hmoždinka! 
Per alcune strutture di parete può essere necessario un tassello speciale! 
Pour certains types de murs il faut des chevilles spéciales ! 
Для некоторых типов стен может потребоваться специальный дюбель! 

Bazı duvar tiplerinde bunun için özel bir dübel gerekli olabilir! 

Do niektórych rodzajów ścian konieczne mogą być specjalne wkręty! 
Bij enkele muurtypes is een speciale plug misschien vereist! 

For certain wall types, a special dowel may be necessary! 

Bei einigen Wandtypen kann ein Spezialdübel erforderlich sein! 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 



11.06.2014 1/10

»6842«

6842

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 



2/10 6842 11.06.2014

0          10         20         30         40         50         60         70         80         90        100       110       120       130       140       150       160       170       180       190

Name • Nom • Nome • Naam • Nazwa • Jméno • 
Nàzov • Név • Denumire • Isim • Название 

Nr. • No. • N° • Номер • Č • Sz 

Typ • Type • Tip • Tipus • Tipo • Тип 

Service • Dienstverlening • Serwis • Servis • Сервисная служба • Assistenza • Szerviz 

Ø8 x 35

8 xA

2 mm

4 xC

fk.9

4 xCe

Ø3,5 x 15

8 xEa

Ø15 x 11

4 xGa

L - 34

4 xG

Ø1,2 x 20

50 xI

45 x 20 x 16

1 xIb

2 set

1 xLk

Ø5 / Ø5

4 xN

Ø5 x 20

4 xAj

1 xFa

Ø5 x 50

4 xHc

37 x 164

2 xOf

Ø7 x 14,5

2 xLo

3 mm

1 xFb

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc



3/10684211.06.2014

511

506

510

509

512

5

508

507



4/10 6842 11.06.2014

2

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

Ø8 x 35

8 xA

L - 34

4 xG

2 mm

4 xC

C

509

A
A

C

G

G

1

Ø15 x 11

4 xGa

510

5

5

510

509

A
A

G

G

C

A

A

A

A

Ga

Ga

Ga

Ga



5/10684211.06.2014

4

3

Ø1,2 x 20

26 xI

45 x 20 x 16

1 xIb

a

Ib
I

b

Ib
I

c

I

Ø5 x 50

4 xHc

I
I

I
I I

I

I

I
I

I
I

I

I

506

511
Hc

Hc

Hc

Hc
3 mm

1 xFb



6/10 6842 11.06.2014

Lk

2 set

1 xLk

6

5

fk.9

2 xCe

Ø3,5 x 15

4 xEa

Lk

507

Ea Ea

Ea Ea
Ce

Ce

Ec / Dd

Pc / Od

Ø30 x 27 - M4

1 xOd/ M4 x 20

1 xDd

Ø34 x 29

1 xPc

Ø3,5 x 35

1 xEc



7/10684211.06.2014

8

7

1 xFa

Ø5 x 20

2 xAj

37 x 164

1 xOf

1 xFa

Leim
Lijm
Tutkal

Glue
Klej
Клей

D
NL
TR

GB
PL
RU

Colle
Lepidlo
Enyv

Colla
Glej
Adeziv

FR
CZ
HU

IT
SK
RO

507

fk.9

2 xCe

Ea Ea

Ea Ea
Ce

Ce

Ec / Dd

Pc / Od

508

Of

Aj
Aj

Ø3,5 x 15

4 xEa

Ø30 x 27 - M4

1 xOd/ M4 x 20

1 xDd

Ø34 x 29

1 xPc

Ø3,5 x 35

1 xEc



8/10 6842 11.06.2014

10

9

a b c

Ø5 / Ø5

4 xN

1 xFa

Ø5 x 20

2 xAj

37 x 164

1 xOf

1 xFa

Leim
Lijm
Tutkal

Glue
Klej
Клей

D
NL
TR

GB
PL
RU

Colle
Lepidlo
Enyv

Colla
Glej
Adeziv

FR
CZ
HU

IT
SK
RO Aj

Aj

Of 508

Ø7 x 14,5

2 xLo

Lo Lo

N

N

508

507



9/10684211.06.2014

11

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO

Türen einstellen (Scharniere justieren) 
Adjusting the doors (adjusting the hinges) 
Deuren instellen (scharnieren afstellen) 

Nastawić drzwi (wyrównać zawiasy) 

Kapıların ayarlanması (menteşelerin seviye ayarı) 

Регулировка дверей (регулировка шарнира) 
Régler les portes (ajuster les charnières) 
Sistemare le porte (regolare le cerniere) 
Vyrovnejte dvířka (seřiďte závěsy) 
Nastavenie dverí (nastavenie závesov) 
Állítsa be az ajtókat (állítsa be a zsanérokat) 
Reglare uşi (ajustare balamale) 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

a

b

c



10/10 6842 11.06.2014

12

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO Pentru unele tipuri de pereţi este posibil să fie necesar un diblu special! 

Egyes faltípusoknál speciális tiplit kell használni! 

Pre niektoré druhy stien môže byť potrebná špeciálna hmoždinka! 

U některých typů stěn může být zapotřebí speciální hmoždinka! 
Per alcune strutture di parete può essere necessario un tassello speciale! 
Pour certains types de murs il faut des chevilles spéciales ! 
Для некоторых типов стен может потребоваться специальный дюбель! 

Bazı duvar tiplerinde bunun için özel bir dübel gerekli olabilir! 

Do niektórych rodzajów ścian konieczne mogą być specjalne wkręty! 
Bij enkele muurtypes is een speciale plug misschien vereist! 

For certain wall types, a special dowel may be necessary! 

Bei einigen Wandtypen kann ein Spezialdübel erforderlich sein! 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 



11.06.2014 1/10

»6861«

6861

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 



2/10 6861 11.06.2014

0          10         20         30         40         50         60         70         80         90        100       110       120       130       140       150       160       170       180       190

Name • Nom • Nome • Naam • Nazwa • Jméno • 
Nàzov • Név • Denumire • Isim • Название 

Nr. • No. • N° • Номер • Č • Sz 

Typ • Type • Tip • Tipus • Tipo • Тип 

Service • Dienstverlening • Serwis • Servis • Сервисная служба • Assistenza • Szerviz 

Ø8 x 35

8 xA

Ø7 x 14,5

2 xLo

Ø5 x 20

4 xAj

fk.9

4 xCe

Ø3,5 x 15

8 xEa

1 xFa

37 x 164

2 xOf
Ø1,2 x 20

50 xI

45 x 20 x 16

1 xIb

L - 34

12 xG

Ø15 x 11

12 xGa
Ø6,3 x 12

8 xBa

2 mm

4 xC

20 x 20 x 16

4 xK

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc



3/10686111.06.2014

53
1

5

21

53
0

52
9

52
8

52
7

52
6



4/10 6861 11.06.2014

2

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

1

Ø8 x 35

4 xA

Ø8 x 35

4 xA

21

530

529

A

A

A

A

A

A

C

Ba

KK

Ba
G

G

G

C

A

A

C
Ba

Ba
K

K

G

G

G

Ø6,3 x 12

4 xBa

C

2 mm

4 xC

L - 34

6 xG

20 x 20 x 16

4 xK



5/10686111.06.2014

3

762

417

61

119 119

531

531



6/10 6861 11.06.2014

5

4

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO

Bitte montieren Sie das Spülbecken auf der Topplatte laut Aufbauanleitung des Spülbeckens als erstes. 

Vă rugăm să mount bazinul pe placa de top în primul rând, aşa cum este descris în manual. 
Kérjük, szerelje fel a medencét rá a felső lemez első, ahogy az a kézikönyvben. 

Prosím, držiak panvice na hornej doske prvé, ako je popísané v manuáli. 

Prosím, držák pánve na horní desce první, jak je popsáno v manuálu. 
Si prega di montare il bacino sulla piastra superiore, come descritto nel manuale. 
S'il vous plaît installer le bassin sur la plaque du haut d'abord, comme décrit dans le manuel. 

Please mount the basin onto the top plate first, as described in the manual. 
Plaats de bak eerst op de bovenste plaat zoals beschreven in de handleiding. 
W pierwszej kolejności zamontować zlewozmywak na górnym blacie zgodnie z instrukcją montażu zlewozmywaka. 
İlk önce, kullanım kılavuzunda tanımlandığı üzere evyenin en üst tabaka üzerinde kurulumunu gerçekleştirin. 
Сначала установите резервуар на верхнюю плиту как описано в руководстве. 

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

L - 34

6 xG

531

G

G

G

G

G

G

Ø15 x 11

6 xGa

Ga

Ga

Ga

Ga

Ga

Ga

21

530

529



7/10686111.06.2014

7

6

Ø15 x 11

6 xGa

531

5

Ga

Ga

Ga

Ba

Ba
Ba

Ø6,3 x 12

4 xBa

526

I

I

I

I
I

I
I

I
I

I
I

I

I

I

Ø1,2 x 20

28 xI

45 x 20 x 16

1 xIb

b

Ib
I

a

Ib
I

c

I



8/10 6861 11.06.2014

8

1 xFa

Leim
Lijm
Tutkal

Glue
Klej
Клей

D
NL
TR

GB
PL
RU

Colle
Lepidlo
Enyv

Colla
Glej
Adeziv

FR
CZ
HU

IT
SK
RO

Ø5 x 20

4 xAj

fk.9

4 xCe

Ø3,5 x 15

8 xEa 1 xFa

37 x 164

2 xOf

1 xFa

Leim
Lijm
Tutkal

Glue
Klej
Клей

D
NL
TR

GB
PL
RU

Colle
Lepidlo
Enyv

Colla
Glej
Adeziv

FR
CZ
HU

IT
SK
RO

EaEa

Ce

Ce

EaEa

Aj

Of

EaEa

Ce

Ce

EaEa

Aj

Of

527

528

Ec / Dd

Pc / Od

Ec / Dd

Pc / Od

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc



9/10686111.06.2014

9

a b c

528

527

Lo Lo

Ø7 x 14,5

2 xLo



10/10 6861 11.06.2014

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO

Türen einstellen (Scharniere justieren) 
Adjusting the doors (adjusting the hinges) 
Deuren instellen (scharnieren afstellen) 

Nastawić drzwi (wyrównać zawiasy) 

Kapıların ayarlanması (menteşelerin seviye ayarı) 

Регулировка дверей (регулировка шарнира) 
Régler les portes (ajuster les charnières) 
Sistemare le porte (regolare le cerniere) 
Vyrovnejte dvířka (seřiďte závěsy) 
Nastavenie dverí (nastavenie závesov) 
Állítsa be az ajtókat (állítsa be a zsanérokat) 
Reglare uşi (ajustare balamale) 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

b

a

c





11.06.2014 1/7

»6853«

6853

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 



2/7 6853 11.06.2014

0          10         20         30         40         50         60         70         80         90        100       110       120       130       140       150       160       170       180       190

Name • Nom • Nome • Naam • Nazwa • Jméno • 
Nàzov • Név • Denumire • Isim • Название 

Nr. • No. • N° • Номер • Č • Sz 

Typ • Type • Tip • Tipus • Tipo • Тип 

Service • Dienstverlening • Serwis • Servis • Сервисная служба • Assistenza • Szerviz 

Ø8 x 35

22 xA

Ø6,3 x 12

8 xBa

Ø5,8 x 11

18 xBb

Ø3,5 x 15

12 xEa

Ø3,5 x 35

16 xEc

L - 34

20 xG

Ø15 x 11

20 xGa

Ø1,2 x 20

25 xI

45 x 20 x 16

1 xIb

20 x 20 x 16

4 xK

17 x 430

 2 xQa

L + R

2 xQp

L + R

2 xQo

M4 x 10

2 xDf

Ø30 x 27 - M4

3 xOd/ M4 x 20

3 xDd

Ø34 x 29

3 xPc

Ø3,5 x 35

3 xEc



3/7685311.06.2014

40
6

70

67

40
4

40
5

40
3

40
1

40
2

65
53

8

53
8

40
1

40
3

40
2

65

31

21

21
3

22

34

34

32



4/7 6853 11.06.2014

1

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

Ø8 x 35

4 xA

Ba

K

Bb

Ba

K

Bb

Ø6,3 x 12

4 xBa

Ø5,8 x 11

18 xBb

L - 34

10 xG

20 x 20 x 16

4 xK

L + R

2 xQo

17 x 430

2 xQa

31

G

G

G

G

G

G

Qo

Qa Bb

A

Bb
A

Bb

Bb
Bb

Bb
BbGBa

K

Qo

G

Qa

A

A

Bb

Bb

Bb

Bb

Qo

G

Bb
Bb

Bb G Ba

K

Qo

21

22

Bb

Bb



5/7685311.06.2014

4

2 x 2

3

Ø8 x 35

4 xA

Ø15 x 11

4 xGa

Ø6,3 x 12

4 xBa

Ø15 x 11

6 xGa

34

A

A

Ga
Ga

Ga
Ga

22

34

34

21

31

32

Ga
Ga

Ga

Ga

Ba

Ba
Ba



6/7 6853 11.06.2014

6 x 2

5

a

Ib
I

b

Ib
I

c

I

Ø1,2 x 20

24 xI

45 x 20 x 16

1 xIb

Ø8 x 35

12 xA

Ø3,5 x 15

12 xEa

Ø3,5 x 35

12 xEc

L - 34

8 xG

Ø15 x 11

8 xGa

L + R

2 xQp

I
I I

I

I

I

I
I

I

I

213

402

403 401

65

Ec

Ec

Ec

A

A

A

Ec

A

A

A

Ea Ea
Ea

Ea
Ea

Ea

Qp

Qp

538

538

Ga
Ga

G
G

G
G

Pc / Od

Ec / Dd

Ga

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc



7/7685311.06.2014

8

7

Ø3,5 x 35

4 xEc

L - 34

2 xG

Ø15 x 11

2 xGa

Df

Ec

Ec

Ec

406

70
405

404

Ø8 x 35

2 xA

A

A

M4 x 10

2 xDf

G
Ec / Dd

Pc / Od

G

Ga
Ga

67

67

Ø30 x 27 - M4

1 xOd/ M4 x 20

1 xDd

Ø34 x 29

1 xPc

Ø3,5 x 35

1 xEc



11.06.2014 1/10

»6863«

6863

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 



2/10 6863 11.06.2014

0          10         20         30         40         50         60         70         80         90        100       110       120       130       140       150       160       170       180       190

Name • Nom • Nome • Naam • Nazwa • Jméno • 
Nàzov • Név • Denumire • Isim • Название 

Nr. • No. • N° • Номер • Č • Sz 

Typ • Type • Tip • Tipus • Tipo • Тип 

Service • Dienstverlening • Serwis • Servis • Сервисная служба • Assistenza • Szerviz 

Ø5 / Ø5

16 xN

Ø5 x 20

4 xAj 1 xFa

30°

4 xIh

37 x 164

2 xOf
45 x 20 x 16

1 xIb

Ø1,2 x 20

50 xI
4 mm

1 xF

Ø15 x 11

24 xGa

Ø5 x 50

6 xHc

L - 34

24 xG

10 x 8 x 32

4 xJc

Ø8 x 35

22 xA

Ø6,3 x 12

6 xBa

20 x 20 x 16

3 xK

Ø3,5 x 15

16 xEa

2 mm

4 xIg

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc



3/10686311.06.2014

41

46

42

43

44

44

47

48

536

45

45

534

45

45

52

52

537

535



4/10 6863 11.06.2014

1

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

EaEa

Ig

EaEa

Ig

A

A

EaEa

Ig
G

G

G

A

A
Ea

Ig

Ea G

G

G

G
A

A

A

A

A

A

A

A

A

G

A

A

A
48

47

537

536

Ø8 x 35

16 xA

Ø3,5 x 15

8 xEa

L - 34

8 xG

2 mm

4 xIg



5/10686311.06.2014

5

3

4

2

43

44

44

42

46

41
G

G

G G

G

G G

G

G

G

G

G

A

A

K

Ba

K

Ba
K

Ba A

A

A

A

G
G

Jc

Jc

Jc

Jc

G
G

L - 34

4 xG

10 x 8 x 32

4 xJc

Ø8 x 35

4 xA

Ø6,3 x 12

2 xBa

20 x 20 x 16

2 xK

Ø8 x 35

2 xA

Ø6,3 x 12

1 xBa

20 x 20 x 16

1 xK

L - 34

12 xG



6/10 6863 11.06.2014

7

6

Ga

Ga

H

Ga

Ga
H

HGa

Ga
H

GaH

Ga
H

47

46

48

42

536

537

Ø15 x 11

2 xGa

4 mm

1 xF

Ø15 x 11

6 xGa

Ø5 x 50

6 xHc



7/10686311.06.2014

9

8

Ø15 x 11

16 xGa

41

52

52

Ba Ga
Ga Ga

Ba
Ba

Ga
Ga

Ga

Ga

Ga

Ø6,3 x 12

3 xBa

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

45 x 20 x 16

1 xIb

b

Ib
I

a

Ib
I

c

I

Ø1,2 x 20

32 xI



8/10 6863 11.06.2014

10

Ea Ea

Ih

Ih

Ea Ea

AjAj

Of

EaEa

Ih

Ih

Ea Ea

Aj Aj

Of

1 xFa

Leim
Lijm
Tutkal

Glue
Klej
Клей

D
NL
TR

GB
PL
RU

Colle
Lepidlo
Enyv

Colla
Glej
Adeziv

FR
CZ
HU

IT
SK
RO

1 xFa

Leim
Lijm
Tutkal

Glue
Klej
Клей

D
NL
TR

GB
PL
RU

Colle
Lepidlo
Enyv

Colla
Glej
Adeziv

FR
CZ
HU

IT
SK
RO

Ø5 x 20

4 xAj

534

535

Ø3,5 x 15

8 xEa 1 xFa

30°

4 xIh

37 x 164

2 xOf

Ec / Dd

Pc / Od

Ø30 x 27 - M4

2 xOd/ M4 x 20

2 xDd

Ø34 x 29

2 xPc

Ø3,5 x 35

2 xEc

Ec / Dd

Pc / Od



9/10686311.06.2014

a cb

11

45

45

45

45N

N

NN

NN 534

535

Ø5 / Ø5

16 xN



10/10 6863 11.06.2014

D
GB
NL
PL
TR
RU
FR
IT
CZ
SK
HU
RO

Türen einstellen (Scharniere justieren) 
Adjusting the doors (adjusting the hinges) 
Deuren instellen (scharnieren afstellen) 

Nastawić drzwi (wyrównać zawiasy) 

Kapıların ayarlanması (menteşelerin seviye ayarı) 

Регулировка дверей (регулировка шарнира) 
Régler les portes (ajuster les charnières) 
Sistemare le porte (regolare le cerniere) 
Vyrovnejte dvířka (seřiďte závěsy) 
Nastavenie dverí (nastavenie závesov) 
Állítsa be az ajtókat (állítsa be a zsanérokat) 
Reglare uşi (ajustare balamale) 

Achtung • Attention • Attenzione • Opgelet • Uwaga • Pozor • Figyelem • Atenţie • 
Dikkat • Внимание 

b

a

c


